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Mantissa Question of Z™
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Abstract The definition of mantissa is introduced to discuss the mantissa question
Z™. Several theorems about the mantissa are given. There are some reference
values to the studies of exact dividing of the integer, inspection of the operation
results of the integer and solving ol the diophantine equation.
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1 BEAEX

1.1 JLi8E
WZHEHE.NHERKE . V=(0,1,2,3,4,5.6,7.8,9},V,={0,2,4.6,8),V,= {1,
3.5,7.9}.
1.2 BHHEX
HaCZ R a M EBFR pHEVY, MFK p N o WERELIEN Wiad=p. 0, —41.
9,201 X 3N HEMNTEBEHNN L TINNREEHN DLUE W 4D =Wl =W
(20 =1.

2 EFMR

Warb,c CZ,MBRBNEL BEHUTHE:
(DWW (ab) =W (ba);

(2IW Cabc) =W ((ab)e) =W (a(be) ) 5

(DWW a)=W(0)=0;
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AW« a)y=W(a).
3 5l#

BHENEREENAMRANE L BEREALTEIR:
Bl 1 #aCZ,mEN B W@=0,R W(a")=0.

iERR WA

Fl40 W (200 =0,20°=8 000,78 W(20°)=W(8§ 000)=0.

3 E2 Fae€Z,mENHW)=1,llWa™=1.
B3 #Fa€CZ,meEN,B Wa)=5,Ml W{a")=5.
4 #HaSZ,mEN,B W@ =60 W) =6

Bl S5 EW=p, .WE=p,0 Wia+ 8)=W(g * p.).
Bit1 HabCZ,HW =0, Wa-i=0.

Wit 2 ZabCZ,BEWWW=1,WE) =p.MW(a-b=p.

4 EH

FI ] B CZU=1,2, e N ETE 1<l B Wia)) =0, Wlau,a,) =0

IERE RIRCRIagE .

Li=2 8, A B W) =0, R | MEEER (). BHE Wia » o)=0 BREH
= B AR S BB AT 1<<<n— 1,8 Wia) =0, Wlaasa; a1 )=0. M5
=nff,H 2.

fBR1 Wig)=0,1<j<n—1,% b=aa a; a1, M arayra, a1, = (ayay+ra,
@ ) v d=b T WE) =W (aa,ra;rra.,)=0,

SR LA Wigaer e e =Waaeayora) *a)=Wb-a)=0;

BH2 Wia)=0,j=n% t=aaa- MHEHEL 1,8 Wlaaaa) =W {aga, -
) ¢ 2= W+ a,)=0.

TEEE .

ETEHMFEE RIERMELT #LH:

2t=16,2"=256,2'%=4 096,,

3*=81,3"=6 561,3"=531 441,

+=256,4'=65 536,4'* =16 777 216, -

7t=72 401,7%=5 764 8§01,7*¥=13 841 287 201,

8'=4 096,8% =16 777 216,87 =68 719 476 736,--

94=6 561,9°=43 046 721,9"=282 429 536 481,

B ETRER L BREB GENRTRENERNEBRA "B "R, d it BT B LL
TEM,

B2 EWWE{2,4,6.8),kEN T W(a*)=6.

R REE IS0 E).

EIE 3 EHWW@E{L,3,7,9) 26N, W Wa¥)=1.

[F] BE W] 3E -
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WMFa€ Z, Wia)=p(pEV,p70.,5)mEN, OR m<4, W BERETEM. 8L
Lo WHRE BRI HEWEOIREA -ESWNEEN . RHBIE 2, BITEE m/1, 4 4
MR QLd AEN),

B 1 m/i=4k,  MHFLUTHEE:

BE 1.1 p€{2,4,6,8) , HEH 2, W) =W(a'h) =5,

BH 1.2 p€4{1,3,7,9  HEH 3.0 W) =W =1

R 2 m/ A=Ak 1L W) =W ™« 2,

Y oAE{2,4.6,8 0, W) =6, KB L THE.

B2 p=2,HW@)=W(™ » )=W(EX2)=W{12)=2;

BT 2.2 p=14, 8 W@O=W"h + a)=W(EX1)=W(24)=4¢;

B 2.3 p=6.F W) =Wa% + ) =W(EX6)=W(36)=6;

B 2.4 p=8F W) =W" +« )=W(6X8) =W (48)=8§;

B opE 1,3, 7,900, W a¥ =1, i A L FHRE.

B 2.5 =1, W) =W » )=W (I X1)=W(1)=1;

B 2.6 p=3, 0 W)=W™ «a) =W X3)=W(3)=3;

R 2.7 p=7,F W )=W™ « Q=W X7=W()=7,

B 2.8 p=0.F W) =W « D=W(1XD=W(9)=0.

BRI m/a=4ak,+2, 0 W™ =W (a* « 2*),

4 pe{2,4,6, 8181, W (a™) =06, I H LI FHE.

WR31 p=2,F WW)=W* - D =W(EX2)=W(24)=4,

B 32 p=4.F W@)=W" - a)=W{EX4H=W(96) =6,

B33 p=6.8 W@)=W" + d)=W(HEX6)=W(216)=6;

BRI p=8.H W"=W™ - P )=W(BXEH=W(384) =4,

B pE4{1,3,7, 90 W (a* ) =1, I H L F IR,

BHIS p=1.H WI=W"+ aH=W{AX1D=W()=1];

BR 3.6 p=3,H W =Wia* « H =W X3E)=W () =y,

BT p=7,FW@HI=Wk"+ H=WAXTI=W{42) =9,

B 3-8 p=0,H W =Wia"* o) =W Q) =W(81)=1.

W4 m/l=dk+ 3,0 W) =W{a" + 2,

B pei2.4,6,81 0 . Wit ) =6, BT H L FIEE.

B4 p=2,H W@)=W" &) =W(EX2I=W(18)=§;

HE42 p=1,F W@)=W « o) =W(BX4)=W(384) =1;

B 43 p=6.F W@ =W« &*)=W(EX6)=W(1295) =6;

BHA44 p=8,F W =W(a"+ O y=W(EX8)=W(3072) =2,

Y pE€{1,3,7, 910, W) =1, Bt K LU FHE,

B 4.5 p=1. 8 W)=W&" + =W = 1H=W()=1;

B 46 p=3,HWE)=W™ &)=WAXI)=W(27) =7,

BRAT p=7.8 WEI=W" - F)=W U X7H=W(343)=3,

R 4.8 p=9.F W@ =Wta™ » *) =W X 3) =W (729) =g,
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B4 HaCZG=1,2, 0 FTE a, (1< j<Ci<n) A Wa,) =5, 1
(EFE W eV, G 0w [ an=0;

mEw@ev,. mwdla=s.

Rl (DEMF W) =5 BFFE W) EV,=1{0,2,4.6,8 (=7, W) a &b K%, 5
w= 2w, AR — R B < RIEERAMEFRENGE S, E

W(Ha,)=W(a1a2"'ar"a;"'a,, L)

=W (aaz = 2m a;ra,; * a,)

SW2 + a)amarmerd, ) arian @)y

VW) =5, W2 o) =W(EZxX3)=W(10r=0,

B b=y, * dpe e, B3V S R 1,18

Wl ap =W« apCamagmmera, s + ajreean 1a,)) =W 0 + 6)=0;

(DENE Wie)=5,0 Wa)€V,=1{1,3,5,7,9}, 8 T Wia)H U FH#,

BWEL1 Wh)=10 W a)=W(EX1) =W (5)=5;

W2 Wa)=2,0 Wia » a)=W(5X3)=W(15)=5;

BRI W) =50 Wi« a)=W(GxX5)=W(25)=5;

BRE4 W)=7MWig -+ a)=W(XT)=WI(35)=5;

BEsS Wk =0.MW(g+a)=W(EXO=W(45)=5;

SEEW 1~5.8 Wia, » a)=5. (%)

/q‘/\b=a\a3"-uj BN ES b - FES B PR ALY Sy Y '.'W(a;)EVz, -'-W(b)EVzvﬁﬁff_ﬂﬁ 5»?@"1‘-1:\, 1
F(x13,F

=W (g, al){mayra; | * Qg1 @Gisy * dipr duci @)
=W (S{a@ @) * ey * Gy ey * )
=W(5+8)
=5,
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